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A% 1,296 618 1,914
HESMT 101 27 128

HRE
LEFY| 425 226 651
Nt 526 253 779
EE A K 1,570 334 1,904
HESFT 166 45 211

HEE
FH 946 212 1,158
/NEE 1,112 257 1,369
EAEK 16 31 47
HMESMT 1 0 1

ShiE
LEF Y| 1 10 11
Nt 2 10 12
A% 22 29 51
HESMT 2 0 2
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LEFY| 4 10 14
Nt 6 10 16
AEK 14 30 44
HESMT 0 1 1

IR

FH 3 11 14
INat 3 12 15
(EEVR (=S FAEK 5 3 8
HEEF 0 0 0




=54 3 3 6
NE 3 3 6
HAEHE 68 44 112
- REHT 6 2 8
(RH) B 41 34 75
e 47 36 83
HEEK 7 1 8
HEHMT 3 0 3
ENERE
LEF Y| 3 1 4
N 6 1 7
HEEHE 0 2 2
HESFT 0 1 1
EXFE

=54 0 0 0
NE 0 1 1
HAEEHE 8 7 15
HESMT 1 1 2

ReE
BH 4 5 9
INEE 5 6 11
HEEKE 0 1 1
HEEMT 0 0 0
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B4 0 0 0
INEF 0 0 0
HEEHE 1 0 1

HRE
HESET 0 0 0




1B 0 0 0
Nt 0 0 0
mAEKE 7 1 8
poe MEHT 0 0 0
AR B 7 1 8
hat 7 1 8
mASK 3,014 1,101 4,115
MEEME 280 77 357
#st
EEF 1,437 513 1,950
Nat 1,717 590 2,307
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